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STUDENT NAME:  _____________________________________ 

 

 

 

 

 

 

100% of utterances 26-75 

utilized for analysis ( 10 pts) 

80% of utterances 26-75 utilized 

for analysis(6-8 pts) 

70% of utterances 26-75 utilized 

for analysis (3-5 pts) 

Less than 50% of utterances 26-75 

was utilized for analysis (0-2 pts) 

100% of single word utterances 

correctly categorized (10 pts) 

80% of single word utterances 

correctly categorized (6-8 pts) 

70% of single word utterances 

correctly categorized (3-5 pts) 

Less than 50% of single word 

utterances correctly categorized 

 (0-2 pts) 

100 % of word rules for 

counting words utilized for 

completion of analysis (5 pts) 

80% of word rules for counting 

words utilized for completion of 

analysis (4 pts)  

70% of word rules for counting 

words utilized for completion of 

analysis (3 pts) 

Less than 50% of word rules for 

counting words utilized for 

completion of analysis (0-2pts) 

Total number of differences 

correctly calculated (5 pts) 

2 errors found in differences 

calculations (4 pts) 

4 errors found in differences 

calculations (3 Pts) 

6 or more errors found in differences 

calculation (0-2 pts) 

Total number of words correctly 

calculated for each utterance 

type (5 pts) 

2 errors were found in “ number of 

words” calculations (4 pts) 

2 errors were found in “ number of 

words” calculations (3 pts) 

2 errors were found in “ number of 

words” calculations (0-2 pts) 

Final Calculation accurately 

completed (5 pts) 

  Final calculation was incorrect 

(0-2 pts) 

 

                                                                                              Total _____________/50 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

    

    

    

    

 

                                                                            

                                                                                                 Total _________________/40 


